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HETH A 1;,% 49. INERE 50. R 51. BEFRH

| 2| BhL & oA BT 4%

=™ 1 41 1 25 1 17
ERH 14 7 9 5 10 1
7= 6 12 4 6 5 2
FEET 5 14 5 6 2 4
Ti&EH 9 10 13 3 6 2
Al 11 8 6 6 3 3
BEM 10 9 7 6 7 2
TiEEBKT 7 11 10 5 11 1
mA+H 2 26 2 14 4 3
Emmh 12 8 11 4 12 1
Ll 13 8 12 4 13 1
BLEHT 20 2 16 2

ZEHFIHET 21 2 22 1

H E7ET 24 1 23 1 14 1
Z | ET 25 1 24 1

P 41IES) 26 1 25 1

BEERAT 22 2 17 2

= 27 1 26 1

AL ET 23 2 27 1 15 1
REHT 28 1 28 1

T {%HT 29 1 29 1

RINF 30 1 30 1

LNDHT 3 17 3 7 8 2
=) BT 17 3 18 2

it {ZHT 15 5 14 3

& )11 8T 16 4 15 3 16 1
&N ET 31 1 31 1

SR ET 32 1 32 1 17 1
BHE# 18 3 19 2

JEETET 19 3 20 2

/a5 + BT 4 16 8 6 9 2
XK HHET 33 1 33 1

=R+t 34 1 34 1

= ET 8 11 21 2 18 1
= E 235 128 46
> R 28FE5A1H R 28FE5A1H R 28FE5A1H

=g FRELRHEE ERELRHE ERELRHE

H AT B#ateR B#ateR B#ateR

&5

52. INERIREH

(N)

1,621
891
459

133
70

40km




=
HETH 2, 1;,% 52 INERIREH 53. INERIREH 54, hEERAEGER

2Bt A [FRrAPNGEET=D)) [F-APN
EELi 1 17,131 1 418 1 9,867
EFmH 14 459 18 66 15 213
7= 10 760 19 63 9 474
FEET 2 2,459 6 176 2 1,089
Ti&EH 5 1,266 1 127 6 562
Al 9 891 12 111 5 613
BET 8 968 13 108 8 484
TiEEBKT 13 491 30 45 13 275
mA+H 4 1,621 21 62 3 970
Emmh 3 1,788 2 224 4 831
Ll 6 1,124 9 141 7 512
BLEHT 29 70 32 35 29 40
ZEHFIHET 26 119 24 60 25 62
H E7ET 27 97 14 97 28 47
Z | ET 30 63 20 63 27 48
L4t 31 61 22 61 32 24
BEERAT 33 37 33 19 34 12
= 21 182 5 182 21 97
A LLIET 25 120 23 60 26 60
REHT 28 76 17 76 30 40
T {%HT 23 150 7 150 23 79
RINF 34 14 34 14 33 14
LNDHT 7 973 25 57 10 464
=) BT 22 154 27 51 22 94
Fh - {EHT 17 248 28 50 16 149
&)1 BT 12 566 8 142 12 314
#R &N ET 19 213 3 213 19 114
SR ET 24 133 10 133 24 76
BHE# 18 237 16 79 18 137
R EPET 16 276 15 92 17 138
/a5 + BT 11 717 29 45 11 400
K AHT 20 186 4 186 20 111
=R+t 32 57 26 57 31 29
= ET 15 430 31 39 14 255
= 34,137 145 18,694
> R 28FE5A1H R 28FE5A1H R 28FE5A1H
=g FRELRHEE ERELRHE ERELRHE
H AT B#ateR B#ateR B#ateR
- PIRATEMICKDEET [FPRATERICKDER |FRATEMICKSEET
H

54.

AR E R 0

(N)

831
474
255
114

40

40km




N ig 55. ik Al |56, SEPREEY |57 AP EASHeS
| ANERFIPNGEETD)) [F-APN B %

=™ 1 395 1 11,746 1 55.9
ERH 28 43 10 171 6 375
7= 13 79 8 398 3 50.0
FEET 4 182 2 1,900 11 29.3
Ti&EH 3 187 9 302 13 18.2
Al 10 102 3 1,406 2 50.4
BET 12 81 5 684 14 18.1
TiEEBKT 23 55 13 158 5 385
mA+H 16 69 4 914 4 48.4
Emmh 2 208 15 124 18 8.1
Ll 5 128 6 447 7 37.4
BLEHT 32 20 19 0

ZEHFIHET 21 62 20 0

H E7ET 26 47 17 83 15 15.8
Z | ET 25 48 21 0

P 41IES) 31 24 22 0

B+ 34 6 23 0

= 11 97 24 0

AL ET 22 60 18 78 9 326
REHT 29 40 25 0

T {%HT 14 79 26 0

RINF 33 14 27 0

LNDHT 20 66 7 434 16 14.8
=) BT 27 47 28 0

it {ZHT 24 50 29 0

&)1 BT 9 105 12 165 12 29.2
&N ET 7 114 30 0

SR ET 15 76 16 112 8 36.4
BHE# 18 69 31 0

JEETET 17 69 32 0

/a5 + BT 19 67 11 168 10 30.4
KHHET 8 111 33 0

=R+t 30 29 34 0

= ET 6 128 14 141 17 13.2
= E 146 19,431 47.4
> R 28FE5A1H R 28FE5A1H R 28FE5A1H

=g FRELRHEE ERELRHE ERELRHE

HAT B#ateR B#ateR B#ateR

- PIRATEMICKDEET [FPRATERICKDER |FRATEMICKSEET

H

(N)

398
83

40km




B VAN E 7] A 3 i At
A | 58. NREEH 59. REEH 60. ABEEH
| %) BhL £E B EE B £E
=™ 1 41 1 7 9 3
ERH 12 3 9 1 17 1
7= 2 19 10 1 5 5
FEET 3 14 11 1 6 5
Ti&EH 13 3 2 3 18 1
Al 7 7 12 1 7 4
BEM 10 6 13 1 10 3
TiEEBKT 19 1 14 1 19 1
mA+H 8 7 3 2 13 2
Emmh 4 13 4 2 11 3
Ll 5 13 5 2 3 6
BLEHT 16 2 15 1 20 1
ZEHFIHET
H E7ET 16 1 21 1
Z | ET 20 1
e+t
BEERAT
= 17 1 22 1
AL ET 17 2 23 1
REHT 6 13
T {%HT 18 1 2 8
RINF 24 1
LNDHT 9 7 19 1 14 2
=) BT 18 2 15 2
it {ZHT 21 1 8 4
& )11 8T 22 1 20 1 16 2
&N ET 11 5 21 1 25 1
SR ET 4 6
BHE# 14 3 22 1
JEETET 6 2 12 3
/a5 + BT 7 2 1 9
K AHT 15 3
=R+t 23 1
= ET 8 2
= 168 36 76
2 TR2TEE TR2TEE TR2TEE
=g METM TR B OKR  |HEFRITHROKE  |HETHTEEROKR
HAT 12 BT IR B2 ER 12 BT R B2 ER 12 BT IR B2 ER
&5

(88)
13

o=Nol

40km




